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1. (2) If the demand function is given by Qo = 70 — 10P%
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SECTION A (&Ug 31) :
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supply function-is given by Qs = —200 + 80Px, fir
: equilil_:)rium price and quantity. ’
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(b) Calculate cross elasticity of demand between 1,emon a0

Tea and state the type of relationship:
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(8) Differentiate between Cross Elasticity of Demand and
Income Elasticity of Demand with numerical example. -
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®) From the supply schedule given below find price elasticity
of supply for a movement from:

() Point A to C

Goods Before After ,,nti (i) Point Cto A and
Price  Quantity Price Qv (i) Midway between A and C.
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2. (2) Consumer is better off with cash subsidy than with o

)

subsidy. Explain why grants are always given in 1 ¢
of excise subsidy rather than cash subsidy. Pl
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Pends her entire _income of Rs. 6005 of ¢
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SECTION B (!3"3 *q')
' (@) Show that in a linear homogeneous Cobb-Douglas
Production function X = ALK,
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O Ifap inputs are increased in the same proportion then
Output also increases in the same proportion.
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(2) What is the difference between expansion path a8

Rt . S
1socline? What will be the shape of isoquant when MRT
is constant and MRTS is zerg?
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() Prove hat he slope of isoquant i equal to the ratio of MPy
and MP. . Explain why MRTSLK is Tikely to diminish as
more and more labour is substituted for capital. 2
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(2) Derive LAC from short run plant curves. Also explain why
LAC curve is flatter than short run cost curves. -
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®©) Write short notes on:
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(a) EXDlain and derive diagrammatlcally the long
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Supply Curve of a constant cost industry under pé
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